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1. If	principal	 is	₹19000.00,	ROI	 is	7.00%	p.a.,	no	of	year(s)	 is	3	and	 interest	 type	 is	compound	 interest	computed
quarterly,	then	interest	is
(i) ₹4397.35 (ii) ₹4399.35 (iii) ₹4395.35 (iv) ₹4396.35 (v) ₹4398.35

2. If	 principal	 is	 ₹6000.00,	ROI	 is	 4.00%	p.a.,	 no	of	 year(s)	 is	 5	and	 interest	 type	 is	 compound	 interest	 computed
quarterly,	then	amount	is
(i) ₹7323.14 (ii) ₹7320.14 (iii) ₹7322.14 (iv) ₹7319.14 (v) ₹7321.14

3. If	ROI	is	2.00%	p.a.,	no	of	year(s)	is	5	and	accumulated	compound	interest	is	₹1363.64	computed	quarterly,	then
principal	is
(i) ₹13000.00 (ii) ₹12999.00 (iii) ₹13002.00 (iv) ₹12998.00 (v) ₹13001.00

4. If	ROI	is	3.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹888.94	computed	quarterly,	then
amount	is
(i) ₹7889.94 (ii) ₹7888.94 (iii) ₹7890.94 (iv) ₹7887.94 (v) ₹7886.94

5. If	principal	is	₹11000.00,	no	of	year(s)	is	4	and	accumulated	compound	interest	computed	quarterly	is	₹3519.22,
then	ROI	per	annum	is
(i) 6.00% (ii) 8.00% (iii) 9.00% (iv) 7.00% (v) 5.00%

6. If	principal	 is	₹6000.00,	no	of	year(s)	 is	5	and	accumulated	compound	interest	computed	quarterly	 is	₹1321.14,
then	amount	is
(i) ₹7319.14 (ii) ₹7320.14 (iii) ₹7321.14 (iv) ₹7322.14 (v) ₹7323.14

7. If	principal	is	₹10000.00,	ROI	is	5.00%	p.a.	and	accumulated	compound	interest	computed	quarterly	is	₹2198.90,
then	no	of	years	is
(i) 2 (ii) 3 (iii) 5 (iv) 6 (v) 4

8. If	principal	is	₹15000.00,	ROI	is	6.00%	p.a.	and	accumulated	compound	interest	computed	quarterly	is	₹1897.39,
then	amount	is
(i) ₹16898.39 (ii) ₹16895.39 (iii) ₹16896.39 (iv) ₹16899.39 (v) ₹16897.39

9. If	principal	is	₹9000.00	and	compound	interest	amount	is	₹9844.26	for	3	year(s)	computed	quarterly,	then	interest
is
(i) ₹844.26 (ii) ₹842.26 (iii) ₹845.26 (iv) ₹843.26 (v) ₹846.26

10. If	principal	is	₹14000.00	and	compound	interest	amount	is	₹16250.56	for	3	year(s)	computed	quarterly,	then	ROI
per	annum	is
(i) 3.00% (ii) 4.00% (iii) 7.00% (iv) 5.00% (v) 6.00%

11. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹19806.89	 for	 5	 year(s)	 at	 an	 ROI	 of	 7.00%	 p.a.
computed	quarterly,	then	principal	is
(i) ₹13999.00 (ii) ₹13998.00 (iii) ₹14001.00 (iv) ₹14002.00 (v) ₹14000.00



12. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹20803.26	 for	 5	 year(s)	 at	 an	 ROI	 of	 8.00%	 p.a.
computed	quarterly,	then	interest	is
(i) ₹6804.26 (ii) ₹6801.26 (iii) ₹6803.26 (iv) ₹6802.26 (v) ₹6805.26

13. If	the	compound	interest	on	a	certain	principal	is	₹4291.87	for	3	year(s)	at	ROI	8.00%	p.a.	computed	quarterly,
then	what	is	the	compound	interest	for	the	same	principal	and	ROI	for	2	year(s)?
(i) ₹2747.55 (ii) ₹2746.55 (iii) ₹2748.55 (iv) ₹2744.55 (v) ₹2745.55

14. If	the	compound	interest	on	a	certain	principal	is	₹1599.65	for	4	year(s)	at	ROI	7.00%	p.a.	computed	quarterly,
then	what	is	the	compound	interest	for	the	same	principal	and	duration	at	5.00%	p.a.	ROI?
(i) ₹1098.45 (ii) ₹1101.45 (iii) ₹1100.45 (iv) ₹1097.45 (v) ₹1099.45

15. If	the	compound	interest	on	a	certain	principal	is	₹497.14	for	2	year(s)	at	ROI	4.00%	p.a.	computed	quarterly,
then	what	is	the	compound	interest	for	the	same	principal	at	9.00%	p.a.	ROI	and	duration	3	year(s)?
(i) ₹1835.30 (ii) ₹1834.30 (iii) ₹1836.30 (iv) ₹1838.30 (v) ₹1837.30

16. Calculate	the	amount	on₹6000.00for5years6months
at6.00%	p.a.compoundedquarterly
(i) ₹8325.38 (ii) ₹8327.38 (iii) ₹8323.38 (iv) ₹8326.38 (v) ₹8324.38

17. Calculate	the	amount	on₹6000.00for years

at7.00%	p.a.compoundedquarterly
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(i) ₹8438.00 (ii) ₹8441.00 (iii) ₹8439.00 (iv) ₹8442.00 (v) ₹8440.00

18. If	principal	is	₹7000.00,	ROI	is	2.00%	p.a.,	no	of	year(s)	is	5	computed	quarterly,	then	the	difference	of
compound	and	simple	interest	=
(i) ₹36.27 (ii) ₹34.27 (iii) ₹33.27 (iv) ₹35.27 (v) ₹32.27

19. If	the	difference	of	compound	and	simple	interest	on	a	certain	principal	is	₹405.80	for	ROI	6.00%	p.a.	and	no	of
year(s)	4	computed	quarterly,	then	the	principal	=
(i) ₹14002.00 (ii) ₹13998.00 (iii) ₹13999.00 (iv) ₹14001.00 (v) ₹14000.00
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